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IV Semester B.Com.2 Degree Examination, May 2016
(RCU Syllabus (Freshers) - Regular/Repeaters)

Paper - II : CORPORATE ACCOUNTING - II
Time : 3 Hours] [Max. Marks : 80

Instructions/zeesdned ;

1) Attempt all Sections according to internal choice.
&0367 aa.g GTOT DER), aowﬁrrefdi vz 030,

2) Simple and non-programmable calculators are allowed.
F0¥ soadecaienna nesg aog o) VT 0l AT 2B

3) Give working note as part of answer.
¥ Q) ETEITYX) DeBO. &b evzow wonooNd.
SECTION - A/Qyen — &

1. Answer any ten of the following : (10 x 2 = 20)
BINS Wevord B3 BZNVrt GuIORD !

(a) What are the types of amalgamation as per AS-14?
©g00k301T 59, 0BOF - 14T FToT F0BIOD IDeATTRE STITNIR), 392D.

(b) What are the methods of purchase consideration?
DD BogrResod BFoONR), 3920,

(c) Give the meaning of absorption of company.
Foz Ao &cﬁﬁﬁ%aﬁ' Q0TTeRO?

(d) Give the journal entry for realisation expenses paid by Vendor company.
Inoetss ;stadafdgl S08 FoBA0d Beew DoSobd Bert moddTWSess?

() What is Consolidated Balance Sheet? Why it is prepared?
BReRE3 Vg BT 20TTERT7 VTR, DT I0dPOTIT?

() What is Cost of Control?
Dadrod e SeiSordemd?

1 P.T.O.
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?
What is standard asset of a bank
s 230.080rF Bomdod roesoNR (standard) &2 20EBeRIT7 |
]

v i ?
What is statutory reserve created by banking companyr

3 _
aumomo% gozdod m?aeﬂ 05 aorderd?

n capital reduction is utilised?
Deohd Berd medndes0?

(b)

(i ~Whatis accounting entry whe
woBmey 5830 eusoleer Spbmen Cecwd B2

i What are the kinds of reconstruction?
PFctsod FHONYE), 3920,

(k) What are non-banking assets?
w0830 e 2ondesd?

]
and subsidiary company?
LEI3¢ ®one evd sozdd IS 30308 FBooBrie &auﬂqueaw Zert

S0riedaeles0?

SECTION - B/ aweni— w

Answer any three of the following : (3 x 5 =15)
FYNT teved Sue0Y, L3020 !
2. Distinguish between ‘merger’ from ‘purchase’ method of amalgamation as per
AS-14.
egobjont Q&aowlzq D500 JDedeson I,50nws am&.&uau (merger) ®ore DO
BHNY BBOIT F3Y 3 390.
3. Compute purchase consideration, goodwill or Capital Reserve from the
following information :
Asha Ltd. Bhosle Ltd.
Particulars Rs. Rs.
Assets 3,00,000 2,50,000
Liabilities 1,00,000 75,000
2,00,000 1,75,000

Equity share capital of Rs. 10 each

How do you treat bills drawn and accepted mutually between holding |

Asha Bhosle Co. Ltd. agreed to issue 20,000 shares of equity of Rs. 10 each at |

a premium of Rs. 5 to Asha Co. and 15,000 equity shares of Rs. 10 each at
10% premium to Bhosle Ltd.

[T 23423/D 230
go1t B0kl Inb3ndor DOED Zoged, dedF BRe) vyl wormed APOLRY Fordy &BOWD :
ez 5o=d e 50T
Q=T gse. dn.
(2] 3,00,000 2,50,000
wmerIdrieh 1,00,000 75,000
2,00,000 1,75,000

Bedd WoBTY IR, Fed S 2563 3,3 BedS 0. 10
85 F05Q Honn wWeck Fozdabridy AT riATied waER0E BRHY FSHoONRYEY,
a;g%btw_u ngaaoa e Weed 20w BT FozA) CridodpNd. wze W o3 um
gozdrt 20,000 ﬂvlﬁoa& &aﬂulaﬂw S WS de. 10 3 BedR de. 5 CTod
Se0obIr*deodnt sore el sozdi 15,000 auﬂuuww uaﬁu:aﬂwg 3¢S de. 10
T3 Bedrt 10% acdabodeodt deden wad.

4.  Karnataka Ltd. received the sanction of the court for reducing its share capital

and for internal reconstruction :

(a) Cancellation of 25,000 old preference shares of Rs. 20 each fully paid by
the issue of same number of new preference shares of Rs. 15 each.
Cancellation of 25,000 old equity shares of Rs. 15 each fully paid by the
issue of equal number of new equity shares of Rs. 10 each fully paid.

To write off debit balance of profit and loss account of Rs. 1,05,000.

To reduce the value of machinery by Rs. 45,000 and that of goodwill by

Rs. 20,000.
To reduce the value of investments to market value by writing off by

Rs. 40,000.
Pass the journal entries in the books of Karnataka Ltd.

TOFLT F0ID) 3T woBTYRY TR InBew Fone 0308 HTVTCBS  IREeH
Ty adnoabiod emaid TEDR) HTTNYL FYAT0IS :

(@) 25,000 =dab wBIP edonday It I3 BedR de. 20 dod
BomabBER), B8 Bedrt 8. 15 Tod ZomeohmNd Homd SORE woBmed BRI
SRBIT[H.

25,000 3dab mRT dedones) IodWeS J3 Bedt Sw. 15 Tod
oW OLTITHR), B3 Bedrf Gn. 10 Fo3 FowaodmdNe S0y TOR WoETY TBI
SREI.

o923 0 we30hd FoAod ZA3 B, 1,05,000 I/ H28IFHT.

chodpezzoend Poces de. 45,000 YRy, 3B INRTT Fone sedr BEOAY)
Wb 8. 20,000 383 IRBITH.

momInng  Soee Seoosab WSab Hoedt dwe. 40,0000z, IPQBE,
sR3riRYRSTR.

ATD FITHIOAYR), BWar 38 Sess WoZod BB

(b)

(c)
(d)

e

(b)

(c)

(d)

(e)

3 P.T.O.
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i ill from the following :
inority Interest and Goodwi -
TaAenes i Holding Subsidiary
Co. (H) Co. (S)
Rs.
Particulars Rs.
i Co. Ltd
tal (shares of Rs. 10 each) H
mwﬁwﬁmwﬂ,ooo shares of Rs. 10 each of S Co. Ltd. il 100,088
w%_.awm. 1,50,000 on 1.10.2014 ».Mo.ooo e
General Reserve (1.4.2014) mo,ooo e
Profit on (1.4.2014) = o000
Total profit for the year (1.4.2014 to 31.3.2015) rn,“mo -~ Y
rie SedF o,
gUns SnbIobEy 8Edy ¥Y, Begoreos SR8 & &
LBODD : =3 a
op.
o,
aSTrish
Sedo wodmed (Swaese I3 Bedd gw. 10 dod) (H Co.
w=cy S gosAad 6,000 gedonda, Swwdd 23 uami&u
14 do
dn. 10 dod 1,50,000 uouunwua Baeos 1.10.20 . —
il ‘mo 000 40,000
SEnE. 9D (1.4.2014 do) .
Y 80,000 20,000
et (1.4.2014 Do) : oo
23 SEFT k) ooy (1.4.20 14 Bow 31.3.2015) 1,00,,000 ;
.} 2
i ibed
i d Loss Account in prescri
.o information prepare Profit an
6. From the following in i et

form of Banking Compan;

Rs.

Interest and discount @‘NNMNM

Interest on borrowings from RBI H,oc ,ooo

Income on Mmﬁnmndmsﬁm M.Oo.ooo

Interest on Deposits ,00,

Interest on balance with RBI 20,000

Commission exchange and brokerage 80,000

Salary and allowances to staff 80,000

Travelling expenses 12,000
Directors fees 8,000
Audit fees 4,000
Profit as on 1.4.2014 1,60,000
Make provision for bad debts 48,000
72,000

Provision for income tax

23423/D 230

UNS Bnb3onod oay K TD eIaLR wa0s0nt Ta0Y) eROMNTN BrA0Y
31.3.2015€ 3010020 :

ow.

w@ Frie Anck 6,00,000

53¢ 08000 300 mow Soeds B =0 1,20,000

rbozaziod S030 JedT umead 1,00,000

dededny Soedw Q@uaﬂ 2,00,000

o P awoma.&x_ Se30 Deds wd, 20,000
Oy ane 2730 80,000
R deinrlefely] mbwhuoi Hane ﬂma 80,000
I8 u&ﬁ& 12,000
Ader 880 ol 8,000
a& 3210 FozTead 4,000
opzd ) 9 wed (T Jopnd) credit 1,60,000
BoBainIE TANOMmN 5200ME), 48,000
72,000

sweod s0TyA INHOATY,

SECTION - C/ a%wri - 8

Answer any two of the following :
Yemad 0B THndr ev3dR0

(2 x 15 = 30)

The Balance Sheet of Renuka Ltd. as on 31.3.2015 was as follows :

Particulars Note No. Amount
() Equity.and Liabilities

(1) Share holders Fund :

Share Capital 1 3,00,000

Reserve and Surplus 2 15,659
(2) Non-current Liabilities :

Long-term borrowings 3 1,20,000
(3) Current Liabilities :

Trade payables 4 15,110

Total Equity and Liabilities 4,50,769
L P.T.O.
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23423/D 230 Note No. Amount |
particulars | Rs
ﬂ: Assets Note 5 : J—,Eﬂm—_u_mﬂ Fixed Assets :
1s : .
(1) Non-Current Asse e 5 4,00,562 Plant and Machinery 3,60,247
Tangible fixed as Land and Building 10,676
_N._ Current Assets : 6 13,481 Steamer 16.645
t . »
Current Investments 7 13,705 Furniture 12,994
Inventories 8 9,366 Tangible Fixed Assets 4,00,562
jvables —_
Trade H.nnﬂcmd.n B 9 13,655 Note 6 : Current Investments
Cash and cash equiv = e
Total Assets B A.mo-um|© In Shares 13,481
Current Investments 13,481
2015 N
Notes to Balance Sheet as on 31.3 2 & Note 7 : Inventories
Stock-in-Trade 13,705
Inventories 13,705

Note 1 : Share Capital
Aihoiised Capital : © S _ Note 8 : Trade Receivables
12,000 Preference shares of Rs. 10 each R Sundry Debtors 9,366

0 each 2,50 @w Trade Receivables 9,366

25,000 Equity shares of Rs. 1

. s . Note 9 : i
lssued Subscribed and Paid up Capital : ote 9 : Cash and Cash equivalents

10,000 Preference shares of Rs. 10 each fully paid 1,00,000 _ i 13,521
: : Cash in h,
20.000 Equity shares of Rs. 10 each fully paid Ilmmclblom ash in hand =
3 . 3.00,000 Cash and Cash equivalents 13,665
Share Capital PO

Scheme of reconstruction of the company was approved by the court
according to which Preference Shares were to be written off by Rs. 4 per share

. Reserves and Surplus ;
Note 2 10.882 | mba equity shares by Rs. 6 per share. The amount so available was to be
General Reserve A . utilised for writing off the following assets :
Profit and Loss Account A TTY (a) Plant and Machinery - Rs. 1,57,201
Reserves and Surplus ]memlm (b) Building - Rs. 676
Note 3 : Long term Borrowings (Debentures) H,wo,ololﬂ (c) Investments - 6,261
(d) Steamer - 4,045
Note 4 : Trade Payables (@ Futnituce~3.372
i 14,552 ;
Sundry Creditors The general reserve should be extinguished and the difference should be
Bills Payable 558 adjusted to profit and loss account. Draft the journal entries and prepare the
— Balance Sheet after carrying out the terms of reconstruction (in vertical form).
Trade Payables 15,110
i o=
T P.T.O.
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o 338 Breos 31.3. 83358 3 : Bears) meoneh :
Becase BoROD w3368 o 363 3 : oY :
o -
| »od I3 1,20,000
() Bedd woBmed ForiR owRley | wbd) BEForD morey 1,20,000
(1) decotaU0 B0 i 3,00,000 8358 4 : BaTUTT IO Wns) :
Bedo woBeY : 15,659 9ricy 14,552
20 @orie eyl ﬁaﬂa& Bo0Breh — r.lmw,m
2) ﬂuﬁo&aa e dried | 5 120,000 L) Sodiicsar @0 wend) 15,110
DeFarsd mONY 85383 5 - Ao Aoeanieh :
3) 1508 2AEMdINY: i 15,110 obod R eaT0n 3,60,247
. UW&HQO EATIACS] lI.M.I,.mOI.l__.ﬂIm@. R darie mrm_ﬂloc 10,676
b Bedd woBTed 25302320 e 2300 16,645
o, Sednedzdmnied 12,994
wid) tacwsd ‘._n_ucvmioc 4,00,562
fm ey N— B3 6 1 1999 roosTedrish 13,481
(1) g ves e3nid: 5 4,00,562 13481
ressd 33 B30 M3 7 : Tomd 13,705
(2) wed end: 6 13,481 308orieh , 13,705
1) rOOSIHNW 3 13,705 #38 8 : O wolennd 303
DomBONW 8 9,366 POMOT) 9,366
wOeTE BooBW g 13,655 9,366
20 SR B — 450,769 83039 : Irich B cw@mn, 13,521
bk 82 —_— Iric B BeiedALI 134
gosS 338 RowoRw LIHNL 31.3.2015: 5 13,665
& - : o 3
BoZdob 0308 HF* SRR Ferin wodey FBIE, Ty aINOAD BRI BATR). B
min $9NF0d FHTO* Su3s SnFen APFOZEHNT.
- dedd .
U 1:3 BIP Becbriv, I3 Bed Ao, 4 Tod Farln TIRT, Bedoriva, I3 Bedrt dn. 6 Cod
S2002003 WOBTY 1,20,000 .‘ 4™ i o
00 g Secorivd 33 Bedrt 0. 10 003 _ ~ooo Fa3tRvESe. © BRIRY, B sYNT0S sudaleehzules.
12,0 ) 2,50,
o 3 , ; , : _
25,000 IR, Bedoneh 33 Sedrt 8. 10 do b EEtE (a) cbodnessdn Sorle ToTd - dn. 1,57,201 363 Inaesy
CE b) © SN0 - Ow. 676 BB3I IPBIE
Sl vaes e ewauwax dwe. 10 dod 1,00,000 . e u..%a; dp. 6,261 383 IR
10,000 B3 edoried I3 i 2,00,000 (c) rbosesBred - 0. 6,
20,000 R, Fedorieo F3 Bedrt 0. 567500 (d) 20089~ B. 4,045 883 IRBLIES)
2k Beod woBdY - (€) 2edoesdntd - de. 3,372 383 Inaesd
338 2 : Y Bore oY : 10.882 IR, APabI, woBY FB3F, evsaleciues. SRIAIRT ILAIT) Cyd wadabd,
o ?
w3 Aor3od AP 4,777 30383, 8 JIBONYR, Soez edabd) F3w0BL FMtH HIC Sudaing vEs
s 208 .I]l_w.lmwm BB Lo CATTE, 304RDD.
Forle eoyindd '
g My e 9 P.T.0.
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4 Balappa Ltd: have mm%,”% al capital of 50,000 m:&%mew

8. Amatur Ltd. an o Ltd. with 2 = the above concerns on 31.3 9
called Amatur Banpr formed to0 take 9.,@“ of the two companies : i

Rs. 100 wm.n_._ UWQHNMGMWHGNQ Balance Sheet
The following are Note Amatur Ltd. Balappa Iy
particulars No. (Rs.) (Rs)
() Equity and Liabilitics
d:

(1) Share UoE_Q.m Fun 1 15,00,000 10,00,00
Share Capital 2 6,00,000 4,00,00¢
Reserves and Surplus

4 t Liabilities :

(2) Non-Curren . 5 4,00,000 50000
Long-term borrowings
Current Liabilities

(3) Curren . t -
Trade payables (creditors) " .

Total Equity and Liabilities 25,00,000 ,00,000
25,00,000 18,00,000 |
(I} Assets
(1) Non-Current Assets :
Fixed Assets }
,00,000 |
Tangible Assets 4 13,00,000 9,0
Non-current investments 5 3,00,000 1,00,000
(2) Current Assets : n_
0
Investments : Stock 4,00,000 3,00,0
0
Trade Receivables : Debtors 3,00,000 4,00,00
Cash and cash equivalents : Bank 2,00,000 .IIE
00,000
Total Assets 25,00,000 18,007
Notes to Balance Sheet at 31.3.2014.
Amatur Balappa
Note 1 : Share Capital
Shares of Rs. 100 each fully paid 15,00,000  10,00,000
Share Capital ~ 15,00,000  10,00,000

10

[

23423/D 230
Amatur Balappa
Note 2 : Reserves and Surplus
Dividend Equalisation Fund 1,00,000 -
General Reserve 2,00,000 2,00,000
Reserve 3,00,000 2,00,000
Surplus : Credit balance in P& L A/c 3,00,000 2,00,000
Reserve and Surplus 6,00,000 4.00,000
Note 3 : Long-term Borrowings
Secured Loan 4,00,000 -
Unsecured Loan = 3,00,000
Long-term borrowings 4,00,000 3,00,000
Note 4 : Tangible Assets
Land and Building 8,00,000 5,00,000
Plant and Machinery 5,00,000 4,00,000
Tangible Assets 13,00,000 9,00,000
Note 5 : Non-current Investments
In Govt. securities 3,00,000 -
In company shares = 1,00,000
3,00,000 1,00,000

Non-current investments

Ascertain the Purchase Consideration payable to each of the above companies
and prepare the Balance Sheet of new company (vertical form).
Boda0 doMlnt mane ﬁu&&s Aok3E Fod Arieh Uﬁnaib&nt Aprda, Bezwed

8S0tAT Wava, Ak Fozd oom) Uuzenhd. #.03 Fozdodh FeomeIE wod=ey
50,000 3edorieh =,3 3¢0I wied T, 100 Tod. Bxtied Hare ﬁueuaﬁua gozRab I

3331.3.2014 eaSILHTE R oV {af

836 e wva,
Seitirien 0.  (8) (B.)
(I) et woBmY BN WY
(1) BeooweUd & :
Fedh wodmey 1 15,00,000 10,00,000
B @orn enyd 2 6,00,000 4,00,000
(2) wedodedd maowadneh :
Beorad monsh 3 4,00,000 3,00,000
(3) W& BpFBMdFHw :
BRBUCTT Sy @0 wHnd) (FBOTTD) - 1,00,000
whd) Bed) WoBY FoTe BWRD 25,00,000 18,00,000
25,00,000 18,00,000
11 P.T.O.
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Rs. 23423/D 230
58 T30 OIS 338 BXY 31.3.2014 dords & SUAZSS -
Note 2 : Reserves and Surplus :
t3zes Do, g
3,000 P .
& ¥
Insurance Fun » 10,000 (1) Beod wor=Y Bone woedrie -
Accident Compensation Fund 7.000 A
10,000 (1) Bedomud B
Surplus : Credit balance P&LA/c
20,000 Bed)
Reserves and Surplus SR 1 2,00,000
N sarile eyl
Note 3 : Long term Borrowings r 2 20,000
(2) w9 vor Basmddn.
6% Debentures 60,000 ”
B sk
8% Debentures 40,000 SR SO0 3 1,00,000
Long-term Borrowings 1,00,000 930 Degpar S Toorie
| (2B obs For) W
4 iabiliti ! ;
Note 4 : Current Liabilities (3) e RomOFL:
Trade Payables 21,000 ! e
> 4 21,000
Note 5 : Tangible Assets : _ by 22080 T ETHLRBML T
Building £9,000 | —
Machinery 1,20,000 (I) esarieo:
Furniture 9,000 (1) 8 v exrds:
Tangible Assets 2,09,000
feewd 2002
_ ERani 5 2,09,000
Akash Ltd. is absorbed by Bharat Ltd. on the above date, the consideration | ortecso 1oe3neb (Sede o)
being the taking of the liabilities; the repayment of 6% debentures at & a 5 30,000
. - 9 .
premium of 10%; the discharge of 8% debentures at a premium of 10% by the }, 4w
issue of 9% mortgage debentures in the Bharat Ltd. and payment of Rs. 10 W roz3TBndy
per share in cash and the exchange of 3 fully paid of Rs. 10 shares in the 10,000
Bharat Ltd. at the market price of Rs. 12 per share for every 2 shares in the s 50,000
Akash Ltd. _
HOIL Mo o 30,000
Show the necess accounts i s .
shareholders mnnosh_“% hasi g B —— SR> WR08TS
i e Sy m M“».o asing company account) and pass the necessary i 20,000
entries Tl e N
in the books of Bharat Ltd. (Amalgamation is the nature of purchase) 2ubd) TR0 349 omu

14
15
. P.T.O.




l

(RHIE
23423/D 230
.3.2014 :
g B3 BowodS usaigiried 31 .
: U .
$33¢8 1 : ged 200832 . —_
55 000 klo.u.vam Sedonsd 33 gedrt de. 20 gdod SPnf
: |I|I|I||I||-|.||||I.I
moaupvuwma T
Bedy wod=aY s
389 2 : auoncnm._.oo Forp ey ! -
. 3
: 10,000
o ® L 10,000
es R :
i |I||||I|II|||||.|||-
eyic a3 (credit) 00
R
2ba), AR SR enzd
L3898 3 ¢ DeFar=B Toene : o
6% T0T uuunec P
ot
’ B 00,000
8% 0T I SR J— l|11W.1.|.|.|.|1
e
mﬂra 4 : w8 Rﬂuﬁ%nqﬁ —
O <
Floalen)
mmwa 5 : ifecud Gmloc : -
- H.wo,ooo
0B eSO G
e des 5
&agaﬂmuﬂiqb . w.oo_ooo
i =30t 20ed
g ©58 PN i%d
8 gozd eud goz Qo Bemaant. 170028 oI’ 23
50 : ),
s epnd.
SoredabE) SRB geinmod waS e iiead sy Sl
gompod TR BNYR) una&bﬁwug. e4528 §O0D s o
[~} o :
Q@Mm. Hgoaa Fo38RB Zorie 8% poldlal &@1&&&. ﬁu“& ppgc o
9, ﬁ .
w“1%au Beswe 100 .@abupuaou sowaad> uraacu%uu oMum_ o o
. 2 3 450 5
@edeso. ©8 g
g, 10 Tod Iy B0 A ) - o
M awmouc Ze0 Sedoried) Dedesy I8 Bebd w3eS TR 10 dod 6a0 3,
03 A
B8 Spoostd, B g, 12 dod W Bpries.
— ? 3 Begomod wod, DOB St
=1 Z)255d (Realisation a/c) P03 a798, -
o enirunt 330 oad ZEd0d, dacE> TROTIRY
2030 23NYER, 20000 e U3 goa RREEY,
(9DeeTTD 0Bel uaq,bau%&v
16

10. From the following ledger balances of the Rani Channamma Bank Bailhongal,

23423/D 230

prepare the Balance Sheet as on 31.3.2015 and also the relevant schedules :

Particulars Dr. ar.
Share Capital 20,000 shares of Rs. 10 each - 2,00,000
Statutory Reserve - 1,50,000
Net Profit for the year (before appropriation) - 2,50,000
Profit and Loss a/c (1.4.2014) - 2,00,000
Current Accounts - 6,80,000
Savings Bank Account = 2,20,000
Fixed Deposit - 3,00,000
Borrowing from other Banks - 1,60,000
Bills Payable - 40,000
Cash in hand 2,00,000 -
Cash with RBI 50,000 -
Cash with other Banks 2,40,000 -
Money at call and short notice 1,10,000 -
Investment in Govt. Securities 1,40,000 -
Investment in Gold 40,000 -
Bills purchased and discounted 3,00,000
Cash credits and overdrafts 4,75,000
Term Loan 5,25,000
Premises (cost Rs. 1,20,000) 90,000
Furniture (cost Rs. 50,000) 30,000
22,00,000  22,00,000

Other information :

(a) Claims against the bank not acknowledged as debts Rs. 20,000.
(b) Acceptances and Endorsements amounte. .0 Rs. 1,60,000.

(c) Bills for collection amounted to Rs. 1,50,000.

17 P.T.O.
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oord wERR, ok o ERores FAT SUNT SnkIabiy UGk w0k o 338

31.3.2015 dod Hon» FowoRAE uganuaﬁ_au»uaaavo ;
230D E o]

Bedo woERY (20,000 Betoried I3 BedS ¢ dw. 10 Fod) -
@b Rorad> AY =
B3 I wozd (Fo0ORB Segen) -

oot H20 w08 (1.4.2014)

w3 393
gudsa0d a7l _
3083 B _
wR,080M908 7o BT -
ERBIT, BooBreD =
/g B 2,00,000
Iric B 233,08 ROBAINTY, 50,000
w,080MY ), BT 2,40,000
s8mon Ho3CONRIT TO 1,10,000
ryomsEBne 35aFD uqoao& 1,40,000
Ry0SISHNY 2ormose, 40,000
BooBRYd), utovaoouu@nmﬁ_aw M .MM.M”“
BHvH ST 7O 13y
BeFor=d morieh 5,25,000
237008 (S0 3¢5 dw. 1,20,000) 90,000
sedpesTonNe (S0 23¢$ ©e. 50,000) 30,000
22,00,000
&3 :
Mm% M&a Soess w03y, BB BT w08 ANYY
dwn. 20,000.

(b) 250 23y 5030 CR. 1,60,000.
& -8 prl
(c) SBedmh 200 Bood B, 1,50,000.

18
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DUOF
2,00,000
1,50,000
2,50,000
2,00,000
6,80,000
2,20,000
3,00,000
1,60,000
40,000

P—

22,00,000

e =

]

11.

SECTION - D/ 2%r - &

Case study _ooﬂvﬂ_uo..ﬁ 5
Z¥0w g aby (vm0d 8) :

23423/D 230

(15)

From th i
el e following Balance Sheets s on 31.3.2015 and the information given
» Prepare the Consolidated Balance Sheet of H Ltd. and S Ltd. as on

31.3.2015 (in vertical form)

Particulars

() Equity and Liabilities
(1) Share holder Fund :
Share Capital
Reserves and Surplus
(2) Non-Current Liabilities :
Long-term borrowings : 12% Debentures
(3) Current Liabilities :
Trade payables
Total Equity and Liabilities

(II) Assets
(1) Non-Current Assets :
Tangible Fixed Assets
Intangible Fixed Assets : Goodwill
Non-current investments in S Ltd.
(2) Current Assets :
Inventories : Debtors
Trade Receivables
Cash and cash equivalents : Bank

Total Assets

19

Note H Ltd. S Ltd.
No.  (Rrs) (Rs.)

1 3,00,000 2,00,000
2 1,15,000 95,000
10,00,000 @

3 75,000 87,500
5,90,000  3,82,500

4 1,50,000 1,25,000
50,000  1,00,000

5  2,05,000 30,000
75,000 37,500

6  1,00,000 70,000
10,000 20,000
5,90,000  3,82,500
P.T.O.
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Notes to Balance Sheet as at 31.3.2015:

H Ltd. S Ltd. 33% worin
Fpos
Note 1 : Share Capital H 302 508 %6 8omd S mv088 SRE30100B1 BW0E 31.3.2015 dod oxp
A .1_0.\
Shares of Rs. 100 each fully paid 3,00,000  2,00,000 30d»d20 : HORED Sl wgn I3Bobry wow BT
Share Capital 3,00,000 2,00,
api 000 230
Note 2 : Reserves and Surplus tizied H s
G al R 0] da.
eneral Reserve 30,000 20,000 ) Bed wodmy Barts sy . (Ba) (8%.)
Surplus Balance (1.4.2014) 35,000 30,000 wROne :
Profit for the year 2014-15 50,000 45,000 (1) Bedbwoos ey -
Reserve and Surplus 1,15,000 95,000 B¢ woBY
Note 3 : Trade Payables 9 wrio ongs 1 3,00,000 200,000
Sundry Creditors 60,000 87,500 2 1,15,000
Bills Payable 15,000 - (2) PSS Bededrivy - 15, 95,000
Trade Payables 75,000 87,500 ,
. — BeFoeSD moneh : 12% med 33 R
Note 4 : Tangible Fixed Assets 4 10,00,000 -
Building 1,00,000 75,000 (3) wQ Zosmos :
Machinery 50,000 50,000 | —
Tangible Fixed Assets 1,50,000 1,25,000 | ik s 3 75,000 87,500
€00 wor. _—
Note 5 : Non-current Investments “ S RN 5,90,000 3.82.500
1,500 shares in S Ltd. (Cost of acquisition) 1,80,000 ~ | (I) esdriehs P )
In Government Securities 25,000 30,000 | (1) 9 vos sy :
Non-current investments 2,05,000 30,000 =
€30 30 esdrieh
Note 6 : Trade Receivables . s 4 1,50,000 1,25,000
Sundry Debtors 1,00,000 o SR - ?&n&ocau 50,000
, 1,00,000
. ; 2 10,000 e
Bills Receivables 9odbesd rossErieh S Fozdobhd 5 o
Trade Receivables 1,00,000 70,000 = /05,000 30,000
(2) w»Q eyriey:
(a) H Ltd. acquired the shares in S Ltd. on 1.8.2014.
Do ®
(b) The General Reserve of S Ltd. on 1.4.2014 was Rs. 17,000. = 75,000 37,500
: ‘ po w038, BooBritd
(c) Bills Receivable of S.Ltd. were all accepted by H Ltd. 3 6  1,00,000 70,000
(d Debtors of S Ltd. included:the amount of Rs. 10,000 for supply of goods Sngo
to H Ltd. 10,000 20,000
Calculate the cost of goodwill on.consolidation if the cost of shares acqu 5,90,000 3,82,500
S Ltd. is 1500 shares for Rs. 2,00,000. —_—
21 P.T..
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RLO [ )

3 ] 2 ; 1.3.2015:
@S 3331 20200023 hszﬁaedﬁvo 31.3 st byt
83368 1 ; 3edd WOBIY
)
SwDuiees 38 301 B. 100 To3 I 305320305903 3,00,000 2,00,000
whd), 3650 WORNY 3,00,000 2.,00,000

&3 2 : TaONE, AD Forie Y

30T, I 30,000 20,000
oot a3 (w3 1.4.2014) 35,000 80,000
wd) IRFT o953 (2014-15 50,000 45,000

bl TR0, IO Forie U @ 95,000
e3288 3 m?smt‘) BNBUCTT W) !
309N 60,000 87,500
BB CTT BOOBNYD 15,000 =
75,000 87,500
wﬁaeé 4 : eecws %@éﬁ%‘b :
BRPT 1,00,000 75,000
030030, e=TTE 50,000 50,000

wkd), IRRCWD 033 1,50,000 1,25,000
85@95 5; mq BT RI0FIIBHNYY :

1,500 (S Ltd. soza3dod 3edondd)

1,80,000 ~
30500 $8),063MS, 25,000 30,000 |
W) W VT 0TI 2,05,000 30,000
&3588 6 : wTUeTT YTV W) ,
FOOMTT
1,00,000 60,000
udéﬁé BooRNYL | ’ ll
‘ - 10,000 |
Wb, WO ETT Ty (AR 1,00.000 _ 70.000
() H Fo3dodn S Fozdod Besoriymo Brwos 1.8 e
e s ) -8.2014 503> DdeRS
) ©205 1.4.2014 Sordd S 303 Ea:bwzs 202303 V30 . |
PR ) Bw. 17,0 g
({ d]) 0B 26, O3B, arolirieh H Boza S
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(Regular)

Paper III
[Max. Marks : 80

Instructions: 1. All sections are compulsory, subject to internal choice.
2. Section D is compulsory.
SECTION A
1. Answer any ten questions. Each question carries 2 marks. (10 x 2 = 20)
(a) List any two advantages of algorithm.
(b) Draw the flow chart symbols used for decision making and processing
Operation.
(c) What do you mean by keywords? Give example.
(d) Write the syntax of scan f () statement used in C.
(e) Distinguish between while and do while loop in G.
() Whatis uploading and downloading?
(g) Expand HTTP and URL.
(h) Name any four payment cards.
(i) Define cyber Law.
() Whatis POS?
(k) What do you mean by web based marketing?

Answer any three questions. Each

2.  Write an algorithm

Write any four websites of web pbased marketing.

SECTION B

question carries 5 marks. (3 x5 =195)

and draw a flow chart to check the person is eligible to

vote or not.

3. Describe switc

h statement with syntax and example.

L P.T.O.
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4.

10.

11.

|
|
(W

a PVe— |

nt value using & formul ) . |

Write a C program to calculate prese |

Explain the services offered by internet.

king.
Describe the features of Internet Banking

SECTION C

questions. Each question carries 15 marks,

(2x15= wo_“

th a sample C

Answer any two of the following

monstrate wi
Explain in detail the structure of C program and de
program.

List the merits and d

_
oamiﬁwOHqubm w.;aam# _
marketing. ._

Discuss the different features of web based

Write short notes on

(a) Internet security _
(b) For loop inC

(o EFT

SECTION D _
(1x 15 = um“
Compulsory question (Case study):

m
i the followif)
i loyee depending upon
i hike salary of an emp
Write a C program to
conditions. |
is below 10 years , hike the salary by 10%

i alary by 15% _
(b) if service is between 10 to 15 years, hike the s |

the salary by 20%
alary and calculate hike

(a) if service

(c) if service is above 15 years, hike

|

ent s |

lovee code, employee name, pres |
meoﬂ%&umﬁs. Print it in a neat format. i
_

Time : 3 Hours]

23429/D 320

mmm.ZO; _ _ 4 ; _ __

IV Semester B.Com.2 Degree Examination, May 2016

TAX PROCEDURE AND PRACTICE (Vocational)
(Regular/Repeaters)

[Max. Marks : 80

Instructions : 1) All the questions are compulsory according to Internal Choice.

(a)
(b)
(e
(d)

M)
0)

(k)

Answer any ten of the following:

2) Q.No. 11 is compulsory.

3) Use of simple calculators are permitted.
SECTION - A

AHO x 2 HNO-

What do you mean by “TIN” under VAT?

What is Tax Invoice under VAT?

What do you mean by net wealth?

Name any two persons who are liable to wealth tax.

What is multi point of tax?

What is the rate of wealth tax applicable for the assessment year
2015-167

Mention the VAT variants.

What do you mean by value additions?

What is the “Basic exemption limit with regard to levy of wealth tax"?
Name any two assets which are liable to wealth tax.

Expand VAT.

What is MRP under KVAT Act 20037

: P.T.O.
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2.  Explain Debit and Credit notes.
3. Deséribe the following assets as per wealth tax act 1957.
(a) Jewellery “
(b) Yatchs, Boats and Aircrafts |
4.  What are the methods of calculation of VAT? Explain. _
5.  What do you mean by net wealth? How is it computed? _
6.  Mr. Jayakant made a cash gift of Rs.3,00,000 to Mrs. Jayakant in 2010. Mrs,
Jayakant brought jewellery with that money. The value of Jewellery as on
31.03.2014 was Rs.20,00,000. What would be the implication of this in net
wealth computation of Mrs.Jayakant for the assessment year 2015-16?
SECTION -C
Answer any two of the following : (2 x 15 = 30)
7. M/s Aadi Links is a registered dealer as per the provisions of the KVAT Act
2003. The following table shows the purchases and sales of the said dealer for
the year 2014-15. .
Commodities Purchases (Rs.) | Sales (Rs.) | VAT Rate
Air conditioners 26,80,000 28,40,000 | 12.50%
Computers 6,30,800 7,71,200 | 12.50%
T.V. & D.V.D. Sets 18,50,000 21,50,000 | 12.50%
You are required to compute the input tax, output tax and the tax payable for.
the year 2015-16 in respect of the said dealer.
8.  Briefly explain the provisions of the KVAT Act 2003 with regard to the
following :
(a) Books of accounts
(b) Penalties and interest
9. What is Wealth Tax? Discuss the nature of the different assets which are
liable to wealth tax as per Sec 2 (ea).of Wealth Tax Act 1957.
10. Explain the provisions of VAT with regard to registration and cancellation of 4

SECTION-B ﬂ

Answer any three of the following :

dealer.

11.

23429/D 320

SECTION - D
(Case Study - Compulsory) (1 x15=15)

Golden Co. Ltd. a registered dealer has furnished you the following details to
compute VAT liability (Rate of tax on output 4%).

(a) Raw materials Rs.10,00,000 (inclusive of VAT @ 12.5%)

(b) Wages Rs.1,80,000

(c) Overheads Rs.3,00,000

Case Study : Calculate VAT as per

(i  Addition method (Assume profit is Rs.4,00,000)

(ii) Subtraction method (Assume sale price including VAT @ 4% Rs.8,00,000

(iii) Invoice method (Tax credit method) (assume profit is Rs. 4,00,000).
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11.

SECTION -D
(Case Study - Compulsory) (1 x 15 =15)

Golden Co. Ltd. a registered dealer has furnished you the following details to
compute VAT liability (Rate of tax on output 4%).

(@) Raw materials Rs.10,00,000 (inclusive of VAT @ 12.5%)

(b) Wages Rs.1,80,000

(c) Overheads Rs.3,00,000

Case Study : Calculate VAT as per

(i) Addition method (Assume profit is Rs.4,00,000)

(i) Subtraction method (Assume sale price including VAT @ 4% Rs.8,00,000

(i) Invoice method (Tax credit method) (assume profit is Rs. 4,00,000).
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IV Semester B.Com. Degree Examination, May 2016
COMPUTER APPLICATIONS IN BUSINESS
(Repeaters)
Paper III

Time : 3 H
e [Max. Marks : 80

Instructions: 1) All sections are compulsory subject to internal choice.

2) In Section -C question No.12 is compulsory.
SECTION - A

Answer any ten questions. Each question carries 2 marks. (10 x 2 = 20)
(@) Define worksheet.

(b) Define cell and cell pointer.

() Name any four layout of power point presentation.

(d) What is slide sorter view?

(e) Define variable?

(f) Name the C++ tokens.

(g) Write the syntax of simple if statements with example.

(h) Define multimedia.
(i) Expand GIF, JPEG.

j) Define Internet.

(k) Name any four online business websites.

()  Write the syntax of Body tag in HTML.

SECTION - B

Answer any THREE questions. Each carries 5 marks: (3 x 5 = 15)

Explain the types of ce
Describe the steps to insert s

Define constant. Explain the types o

11 references in MS Excel.
ound and picture in a slide.

f constants in C++.

1 P.T.O.
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Semester B.Com.2 Degree Examination, May 2016

a C++ program to calculate simple interest.

5. Write
(Regular and Repeaters)

Explain the types of sound files.

6. Define sound.
re of HTML documents with an example.

7 Briefly explain the structu FUNDAMENTALS OF FINANCIAL MANAGEMENT

SECTION - C Time : 3 Hours]
[Max. Marks : 80
Answer any three questions including Q.No. 12, which is compulsory. Each Instructions/zZeesafried :
carries 15 marks. (3 x 15 = 45) N a
) Attempt all the Sections according to internal choice.
8. Define chart. Explain the components of charts with the help of example. 40308 )Y Fga0 eR, YRy euzdL.
) ) . | 2) Use of simple calculator is allowed.
9. Describe the view options available in MS-power point. T0Y 53 ey SebIO IR WYTED o)A,
Y 4
3) Section-D is compulsory.

10. Explain the components of multimedia. | ourrt-a o, .

f Internet. |
SECTION - A/ dyer - ©

ad Item No., Item Name, Rate, Qty., and calculate 1. Answer any ten of the following : Sonmo
5 x H
_ eood B3¢, 6u30N0: d

discount for following conditions.
00, discount is 5% _ ;

| (a) What is profit maximization?
oot ndeaeson ocves>?

11. Explain the advantages and disadvantages 0

12. Write a C++ program to €
total amount, Net amount,

(a) If total amount is less than 5

(b) If total amount is greater than 500 and less than or equal to 1500

discount is 10% _ .
(b) Mention any two modern objectives of financial m

. ; : 0 : | anagement.

ﬁn.,Hwnoﬁmwm.Eocawm mﬂmmﬁmnﬁumb Hmoo.n:mnocbwaum\o then print the oo ArEHal ARHIEEH S0M> BB vardsy Ao,

details in proper format.
_ (c) Give the formula for NPV.

13. Write a short notes on : _ 27.2.9, Bord> LB %43 43, 0080,

(a) Spread sheets (d) What is the broader concept of capitalization?

(b) Data types in C++ _ 2R BO, WOBTVETT Soudes?

(c) Search Engines. (e) Whatis watered stock?

Aeor WoBTY H0BTeR?
()  Write any four factors affecting capital structure.

wordmey cudad Soed S Deds T ©08rivR), wiod.

(g What doyou mean by specific cost of capital?
Al woBTY uaauouaaa%

P.T.O.
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(h)  Write any four features of working capital.
BB wormeY Taeny egrvat udaD.
() What is net working capital?
NIY BOBAIVS woBmeY SoBder>?

()  Find out the capitalization amount if the earnings are Rs. 1,25 000 and
average rate of return is 25%.
wor> Fed RYgaiy dp, 1,25,000 2R oD rivdod ©IP 25% Qm»w_ Baoa.

WOBTYesdm Se2 2IMroga?

(k) The EPS is Rs. 20 And the current market price of share is Rs. 150.
Calculate the cost of equity capital.

33 BedF riog
323, 9320,

Ga. 20 a8. emnd ¢ uoancqm.m_ 43S de. 150 «g. Bs3L3 worZoe

1) What is point of indifference?
muaaﬂw b3 Aowd aomdesn?

Answer any three

SECTION - B/ &% —

of the following : (3x5=15)

Uevad u&aa& U3 02D :

[SrTA] 1@&&&8 oy

Distinguish between profit maximization and wealth maximization.

ucaum Jo&nuaﬁle uoﬁmu &W@uuaa.w wdoD.

Briefly explain the internal factors influencing the finance decisions.

B0TAT Anrabne Soeed T Dedyss eodds oY) JogzmeN DZ020.

GBS wormYE

A company has
Rs.12,00,000 and fixed costs of Rs. 7,50,000. It has 10% Debentures worth of

Briefly discuss the types of working capital.

ST0NYR) FogTTon 131320,
sales amounting to Rs. 27,00,000, variable costs

Rs. 45,00,000. Calculate operating leverage and financial leverage.
2,080 Fozdadw 2, Bpvets X3 de. 27,00,000, waenros $ef de. 12,00,000 203y

A0 33 de. 7,50,000 ndsy Beodd. v 10% meez3ny ow. 45,00,000 ney,
® ]
BRo1E. AJFBme ¥, I Beavads A% 320

Mahantesth Co. Ltd. issued 20,000 - 10% preference shares o.». mm.. Hoo. each.
The issue cost is 2%. Find out the cost of preference share capital if (a) issued

at premium of 10% (b) issued at discount of 5%.
Sosaoded Fo. Q. O, 100 S 2eSady 20,000 BE Bedorig®), e, 10 dod drond

. 10 God &BF e
0BG, DAorBD Frg, Be. 2 VAP, T Bedonvy, 20w Fed (a) Be. 10 Jod VDY
S (b) Se. 5 Bod LeeBabod DR IPBTS 83, Betk> SRR, Fod> HBAVO,

2

23425/D 250
Answer any ty, SECTION - C/ompr- g
SINBY1Y0 13emary - ©Ollowing
9 Yemg 0B evgnzp . (2 x 15 = 30

Liabilities and Assets Amount

(a) Liabilitieg :
15,000 equity shares of Rs. 100 each 15,00,000

Share Premium 5,00,000
Sundry Creditors 5,00,000
Total  25,00,000
{b) Assets : -
Fixed Assets 20,00,000
Current Assets 5,00,000

Total  25,00,000

The normal rate of return in the industry is 10%. Find out the capitalization
status of the company if the earnings available to equity shareholders are :
(i) Rs. 1,50,000 (ii) Rs. 2,50,000 and (ili) Rs. 2,00,000.

BEeos 31 SPute 2015 Bory 2003 2.3, FoID Nobw3n ©Ees T3F o dUhTodd

BRBMOENL ) i 203
‘(a)  Besmbdind:
15,000 w30, Becorieh de. 1008 Rwow el 15,00,000
Bedd yeaoodo 5,00,000
930 mon 5,00,000
whd), 25,00,000
3 P.T.0.
P.T.O.
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neb :
k) 20,00,000
50 ened
i 5,00,000
30 espritd
25,00,000

b)),
10 u&a. gozRaln Qu@aa Bedomagdr
i) o, 2,50,000 o3

8 oudsbobd, wany NvE SO ge.

ot AVRWBIDT Aedndy wosy Je¢ (i) dw. 1,50,000 {(
(iii) G. 2,00,000 rieaNgd, oBDOL woBTYEECnE 33008, o) 020D,

10. Akshata Co. Ltd. has the following capital structure :
Rs. 40,00,000

Equity share capital (4,00,000 shares of Rs. 10 each) -
6% Preference Share Capital — Rs. 10,00,000

8% Debentures — Rs. 30,00,000

The market price of equity is Rs. 40 per share. The company is expected to
pay dividend of Rs. 4 per share which grows @ 8%.

(a) Calculate weighted average cost of capital of existing capital structure if
the company is under 40% tax slab.

Also calculate the New Weighted Average cost of capital if company

(b)
raises additional Rs. 20,00,000 debt by issue of 10% debentures.

This results in increase in expected equity dividend of Rs. 6 per share
maintaining same growth rate of dividend but market price will come down to
Rs. 30 per share.

&8 F0. 0.3) 8 VA0S woBTeY CuRabR), B0 :

TSR, dedh woBeY — dw. 40,00,000

(B. 10 S dad 4,00,000 Bedoried)

6% - 35 .aunqo wodae¥ - dw. 10,00,000

8% - mozgnsb - dw. 30,00,000
FSRF, decone Jnptdsed, wdodo F3 Jebrt Co. 40 9d. sozdody I3 TOIRT, dedrt

06, 4 Uy, 708 Derd>3 W Ioway, > de. 8 OF),JDotRHI,

[
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a) woIdoiv B
i 3080 wod ¢ 40 o) son WIIIodoar, 3685008 wormey Jus
¢ 3 A, 3 ol 30aRD
(b) wod 3 el .H
¢ Foz,
8. 20,00,00 b Estamn e 10 - ROBIY 0008 wodTYT
- UR000 nvRy donsags, !
BBODD. BHID tottsse orin, BosRab B3 R0ud 8T woBY Bes, Sord
P MUM BoriEBomen IR, BeOT enyaos) 38 Beort . 68,
bzt 258 df evdaindd. ugy IR0, SeSabo 38 Bedrt dlo. 308,

SECTION - D/ ator - @

Case study - Compulsory question :
o camn&a - c.ﬂw&ou o8

(1 x 15 = 15)

MW..HHM_ Mwo,nﬁﬂowmm the following cost structure of its product ‘S’, Its level of
. +0, units of production. You are required to estimate the
working capital required for financing this level of activity :

Elements of cost Amt. per
unit (Rs.)
Raw-material 35
Direct Labour 20
Overhead 30
Total cost of Production 85
Add : Profit 15
Selling Price 100

Additional information :

(a) Raw materials are in stock on an average for 1 month. Materials are in
process on an average 1/2 month. Finished goods are in stock on

average for 1 month.
(b) Credit allowed by suppliers is 1 month.
c) Credit allowed to debtors is 2 months.
(d) Lagin payment of wages is 1% weeks.

(e) Lag in payment of overhead expenses is 1 month

() % of output is sold on cash basis.
(8 Cash in hand and cash at bank is expected to be Rs. 10,000.

You are required to prepare the statement showing working capital needed

with necessary working notes.
P.T.O.

P.T.O.
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(b) RPVITTTL JeBT VG0 o3pod 1 oried.

(€ ™3TR AeROI HuEd BIPaAdL 2 dorigborieh.

(d) 3ROV, 172 FTNYAR), JLowToN RBABIR.
(€) BST BWRIRY 1 3orieh IBINR BnrwBIT.
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: gree Exa
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U - Regular and Repeaters)

rime : 3 Hours]
[Max. Marks : 80
Instructions/3eesdrel ;

1) A w ]
) Answer al questions subject to internal choice.
0308 es T ez -1
ayne LYTED der GGnea) evgo20.

2) Q. No. 11 is compulsory (Case Study).
9 70af 11 dmpat) (g50m sdexs)

SECTION - A/ &yn— o

1.  Answer any ten of the following questions : (10 x 2 = 20)
FYNT Wevod ®IY, Gu300:

(@) What is voidable contract?
IBRBE 3TNWE), uﬁdoci 2ordeso?

(b) What is Quasi Contract?
#uaz% RElela) DowBeno?

(c) Define the term “nformation” u/s 2(f) of RTI Act 2005.

2005 RTI i@o.ignu/s 2(f)o 8,520 “Fnbs' AT T, HeRD.

(d) What is undue influence?
BOU3S TS 205 BeRO?

M te”.
(€) Define the term «consumer Dispu

“T@éﬁﬁi 3053”01) ;532;3% 3088

()  What is breach of contract?

?
WD oBE GVOOFT 20BBER?
d P.T.O.

P.T.O.
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L

nt persons toa nonc‘mnﬁ

@,Suomunmunoﬂvnﬁ
2B0TE, P Cgecta) &ma& 0d0o?

Define contract of guarantee.

V) wWIOET v@& DeD.

f contingent contract.

(h)

(i) Give the meaning 0
FogSdead w3008 ogs eBo.

() Who is Bailor?
et Houd oiRdd?

What is meant by cross offers?

(k)
o6 JRIND 20038em07
2%

Define is contract of indemnity?

)
S, B0@0 LTPEE T2, 820,

SECTION - B/az@n - »

(3x5=15§

Answer any three of the following questions :
Weer St SFivr euddAD

State the exceptions to the rule “No consideration no contract”.

BT LIBOBNY WTTTNYR), 3920.

Explain the agreement opposed to public policy.
PIFEdE dedrt ATV wEoWBENYE), 23020,

State the information exempted from disclosure under the RTI Act-2005.

[0&3 &m.om m.uou.w = Moomaa&o&. oins w&u?mgaw wiTonzBmen O
20u0BE), 3920

Define bailment and explain briefly the different kinds of bailment.
el TyaY, edd e Rdeatsods 2T OV, FoggN JIOL.

Explain the discharge of contract of mutual consent.
3050 wayfab 30607 wBodd Hsuedad 808 H302D.

2

To0dd dedesnll

10.

11.

23422/D 2
Answer a SECTION - c/ : i
ny two of the follo ATt - g

— wi _
L

(2 x 15 = 30)

liability. ances unger which
Ch a surety gets discharged from

%aﬂuga&bﬁsﬁc 3 i
) Loy Swgmeng oBYrnYRy HZ026,
8 Bosmog ), .

Define Pledge and explain the £
“ )y Il
o% UWbm.ﬂ 0eBB Borte Rodmag

ghts and duties of ‘Pawnor’ and ‘Pawnee’
Sarlm :
Ndawsrg ﬁm..w uomm qmwrtwneaw 23040,

mwNﬁrm.mB the variou consumer di u red al agenc
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SECTION - D/ e - @

Case study (Compulsory question) ; (1 x 15 =15)

v@Rod 3 (F300 d3eas) |

(a) ‘A’ agrees to pay Rs. 10,000 to B’if ‘B’ beats ‘C’. ‘B’ beats ‘C’. ‘A’ refuses
to pay Rs. 10,000 to ‘B’. Whether ‘B’ can approach the court to recover
the agreed amount?
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Time : 3 Hours]
[Max. Marks : 80
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| SECTION - A/2uri - &
1.~ Answer any ten of the following :
Wevod B3 IZridrt ev3on .
(a) What is Project Report?
Fwe) I0D s0uderd?
(b) What is Project capacity?
ZBO, WG 208067 |
(c) What is Marketing?
ScvEs F§0b aordeR>?

(d) What is Market Survey?
S0z, 3G SoEdesd?

(€) What is working capital?
BoBodns wor=Re HorveRd?

() What is operating cycle?
sabF FdS 138, d0B0eRd?

(g) Define Ratio.
Tbmring Uwa.ﬂm 2080

(h) Whatis noEB::mnm_u,osv
o -10] Sogdead?
P.T.O.
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(i) What is audio-visual communicat
83 &,Wuo&am ZJoSEs donded?

on?

(i What is competency?
wsrd 20E0RLT

(k) What is feedback?
@z9,0d 20uveRo?

(I What is Net working capital?
A3 woBadnd woB=Y Dorverd?

SECTION - B/ager - »
Answer any three of the following :
wesad Saech ZBNVM ugdA:

Write a note on concept of marketing.
Inoets J§abab FoFedod Soed BT wdod.

Calculate Absolute liquid ratio from the following data :

Rs.
Cash in hand 12,000
Debtors 32,000
Marketable Securities 26,000
Creditors 28,000
Bills Payable 5,000
Qutstanding Expenses 2,000
Bank Overdraft 20,000

B30T BB&RT ZSRBTE), FINT)NY0w Ford LBOWD :
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twBdesd oo (Bills payable)

Jdeernd Due (Outstanding Exp.)
233,080 208 303
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12,000
32,000

26,000
28,000
5,000
2,000
20,000

gy

i Explain the elements of communication
FoJTE RoSBIODL Lo 393, .
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s muxﬂ-,_.m._.ﬂ the ﬁHOOOQCRG of developi 1
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6. Explain the advantages of Ratio.
T BITRUINIR) IO

SECTION - C/&gern -

Answer any two of the following : (2 x 15 =30)
Wevad S0 BN eugda
(3 x5 =15
7.  Explain the steps of marketing management.
Inoek ASFBHS0b Bo3ndny, IS0

8.  Explain the merits and demerits of oral communication.
FozEF DosEFab ¥BAe 303 wmaRsdeedndR) HZ0

9. Explain the competencies {0 be possessed by successful entrepreneurs.

o&amu ga&uumaeab;aaaa cmﬁuzea.w 2302

. 10. Mr. Akash and Sons present Balance Sheet 31.12.2015:
Liabilities 4 Assets T
Fixed Assets 10,00,000

Share Capital (10 each) 10,00,000

Reserves 2,00,000 Stock 4,00,000
7% Debenture 4,00,000 Debtors 3,00,000
Bank Overdraft 2,00,000 Cash 3,00,000
Creditors 2,00,000
20,00,000 20,00,000
Compute the :

(a) Current Ratio
(b) Quick Ratio
(<) Proprietary Ratio
(d) Debt Equity Ratio
(e) Stock Working Capital Ratio
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es508 BOT A°, Y STIT 31.12.2015: am
BRBMDIRL 8. SIS ;

e 00
Beg wodmd (S30ke0dd, O, 10) 10,00,000 35 erie>  10,00,000

TR0, B - 2,00,000 WD 4,00,000
7% O3, . 4,00,000 OMTI 3,00,000
23080 27038 BHTS | 2.00,000 SNWO 3,00,000
T30 (Cr.) 2,00,000

20,00,000 20,00,000
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(e) wemR BB WoBZY BROT3

SECTION - D/a%on - @

Answer the following question com i | o
pulsorily : -
S9N Bmaad BBodR) evgdY: ¥ (1x15=15

11. Explain the Marketing Mix concept.
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